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QUESTION 1

Exhibit You are using trace options to verity NAT session information on your SRX Series device Referring to the
exhibit, which two statements are correct? (Choose two.)

A. This packet is part of an existing session.

B. The SRX device is changing the source address on this packet from

C. This is the first packet in the session

D. The SRX device is changing the destination address on this packet 10.0.1 1 to 172 20.101.10.

Correct Answer: CD

QUESTION 2

Exhibit
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You are implementing filter-based forwarding to send traffic from the 172.25.0.0/24 network through ISP-1 while sending
all other traffic through your connection to ISP-2. Your ge- 0/0/1 interface connects to two networks, including the
172.25.0.0/24 network. You have implemented the configuration shown in the exhibit. The traffic from the 172.25.0.0/24
network is being forwarded as expected to 172.20.0.2, however traffic from the other network (172.25.1.0/24) is not
being forwarded to the upstream 172.21.0.2 neighbor.

In this scenario, which action will solve this problem?

A. You must specify that the 172.25.1.1/24 |IP address is the primary address on the ge- 0/0/1 interface.

B. You must apply the firewall filter to the 100 interface when using filter-based forwarding.
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C. You must add another term to the firewall filter to accept the traffic from the 172.25.1.0/24 network.

D. You must create the static default route to neighbor 172.21 0.2 under the ISP-1 routing instance hierarchy.

Correct Answer: D

QUESTION 3

Exhibit
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You are using traceoptions to verify NAT session information on your SRX Series device. Referring to the exhibit, which
two statements are correct? (Choose two.)

A. This is the last packet in the session.

B. The SRX Series device is performing both source and destination NAT on this session.
C. This is the first packet in the session.

D. The SRX Series device is performing only source NAT on this session.

Correct Answer: AB

QUESTION 4

Exhibit
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Which two statements are correct about the output shown in the exhibit? (Choose two.)
A. The packet is processed as host inbound traffic.
B. The packet matches the default security policy.
C. The packet matches a configured security policy.

D. The packet is processed in the first path packet flow.

Correct Answer: AB

JNO0-636 Practice Test | INO-636 Study Guide | JNO-636 Braindumps 5/6


https://www.passapply.com/jn0-636.html
https://www.passapply.com/jn0-636.html
https://www.passapply.com/jn0-636.html

VCE & PDF https://www.passapply.com/jn0-636.html
2024 Latest passapply JN0-636 PDF and VCE dumps Download
PassApply.com

QUESTION 5

Exhibit

You configure a traceoptions file called radius on your returns the output shown in the exhibit What is the source of the
problem?

A. An incorrect password is being used.

B. The authentication order is misconfigured.

C. The RADIUS server IP address is unreachable.
D. The RADIUS server suffered a hardware failure.

Correct Answer: D
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